SIERRA PACIFIQ =ncineerinG anp PRoDUCTS

NEMA Clip Assembly Kits with Standard Bracket
Kit Part No. 14SS - 1/4-20 Stainless Steel Bracket

Features Item Part Number Qty. Description
» all parts meet NEMA 12 enclosure access requirements 1 X1401 1 304SS standard bracket
» all sub-components may be purchased separately ) X1402-01 1 spring, 31655
3 X1403-01 1 .63 [15.9] O.D. washer, 31655
4 X1404-03 1 1/4-20 x .75 [19.1] long slotted hex bolt, 316SS
Kit Part No. 14SS01 - 1/4-28 Stainless Steel Bracket
Item  PartNumber Qty. Description
1 X1401 1 304SS standard bracket
2 X1402-01 1 spring, 316SS
3 X1403-01 1 .63 [15.9] O.D. washer, 3165S
4 X1405-03 1 1/4-28 x .75 [19.1] long slotted hex bolt, 316SS
Kit Part No. 14ZN - 1/4-20 Steel Bracket
Item Part Number Qty. Description
1 X1400 1 zinc plated standard bracket
2 X1402-01 1 spring, 3165S
@ 3 X1403-01 1 .63 [15.9] O.D. washer, 316SS
4 X1404-03 1 1/4-20 x .75 [19.1] long slotted hex bolt, 316SS

Kit Part No. 14ZNO01 - 1/4-28 Steel Bracket

< @ Item Part Number Qty. Description
~ see NEMA Hold-Down Clamp 1 X1400 1 zinc plated standard bracket
below for dimensional data 2 X1402-01 1 spring, 31655
3 X1403-01 1 .63 [15.9] O.D. washer, 3165S
4 X1405-03 1 1/4-28 x .75 [19.1] long slotted hex bolt, 316SS
®
Kit Part No. 14SST - 1/4-20 Stainless Steel Bracket
Item Part Number Qty. Description
@ 1 X1400-03 1 316SS standard bracket
2 X1402-01 1 spring, 316SS
3 X1403-01 1 .63 [15.9] 0.D washer, 316SS
4 X1404-03 1 1/4-20 x .75 [19.1] long slotted hex bolt, 316SS
Kit Part No. 14SSTO1 - 1/4-28 Stainless Steel Bracket
Item Part Number Qty. Description
1 X1400-03 1 304SS standard bracket
2 X1402-01 1 spring, 316SS
3 X1403-01 1 .63 [15.9] O.D washer, 3165S
4 X1405-03 1 1/4-28 x .75 [19.1] long slotted hex bolt, 3165S
NEMA Hold-down Clamp
Part Number Material Finish Material Thickness
1'25[315\ '§f§+6éé.ffg[;%5] X1400 steel zinc plated .098 [2.49]
ar19] X1401 304SS tumbled .098 [2.49]
X1400-03 316SS tumbled .098 [2.49]

1.20[30.4 ]L

Download JDMODELS @ www.spep.com




